ZEOHEFRICE S LEROAE (TF0 2 FEERK)

1. BAFICLED BB ORE

R - R2.4.1~R3.3.31

<Rl >
B2 HEFE
T EER 66. 1%
R AKGE ST BAeL
1 BT 68. 8%
TH B A 0. 0%
HRFSR B L
HBAHEEER 71. 4%
WAEEHEE S BHZL
= WA = B BHZL
BEZAR BHZRL
27 63. 1%
< AR >
SF 2 FEE
I 53. 7%
TRE 1L - St R G 100. 0%
TR 0. 0%
AL 100. 0%
ABMM R B 100. 0%
BRI 0. 0%
TR 0. 0%
=193 0. 0%
g EE 50. 0%
=] 16. 7%
Fiklk 100. 0%
R HAE 63. 1%




2. BERHAICH DBRIC D D LR DOEIS

a2 EE

TR &R 28. 3% (264)
B RKE ST 0. 0%
NS 42. 9% (214)
THBS A 0. 0%
HaFEEH 0. 0%
BELEES 21. 4% (34)
mAAEHE RS 0. 0%
EEXRER - ATFRES 50. 0% (14)
BEEER 0. 0%
27 27. 9% (514)

3. BB ORRE HERER K OB RSMRREEER
R - R2.4.1~R3.3.31

< BB HH PEIRIER >

B2 EE

TR 90. 9%

R AKEEFERT 100. 0%

(N 25. 0%

TH B A 100. 0%
RREER —
BEZAES -
REEHEAR -
MAEZE - A FEERES -
R¥ELES —

2T 81. 0%

< B WRSIIRME >

B2 R

TR 54. 5%

EFKEFEERT 0. 0%

7 BwbE 75. 0%

TH LA 80. 0%
HRFEBR —
BEZED —
REEHEES -
e = WR/A I = B -
BEZAS —

2T 61. 9%

PRS- R3.3.31



4. BEHIOERIKRERSR
<dbJRRBI > HRIRT  R2.4.1~R3.3.31
&R B2 HEFE
s3] 9. 1%
ERKEEERT 0. 0%
i BpbE 0. 0%
THB A 0. 0%
B RN EER -
BEZAES 0. 0%
WEEHEE S -
e = SR/ o = B -
BEEER -
27 4. 5%
T RE R 100. 0%
ERKE T -
NS —
THBAAR -
R EH R -
et AHEES -
WEEHEE S -
= WA = B -
i & SIS -
ESIh 100. 0%
<A >
Tk FE AN 2
T 8. 3%
FARHE 0. 0%
AR 0. 0%
Bk TH BTk 0. 0%
Tk 0. 0%
IR L fir ek 0. 0%
AR 4. 5%
R 100. 0%
TRE L - Stk e B 100. 0%
Ly R Gl FiTi e 100. 0%
ikl 100. 0%
iz 100. 0%




